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Question No. 1 is compulsory

Attempt any three questions from the remaining five
Figures to the right indicate full marks

Wherever not mentioned value of resistance is in ohms
Assume suitable data if necessary

o ol adl o

Ql. a) Find the ratio V;/Fs in the circuit shown below using Kirchoff's laws.
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c) ase st connected load with leading 4
/oltages and currents.
d) transformer has the maximum value 4

; \ti6n of DC generator. 4

Q2.

1342 resistor by mesh analysis. 4
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Q3. a)

b)

Q4. a)
b)
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The voltage and current in a circuit are given by » =12-30° V and 8
I =3260° A. The frequency of the supply is 50 Hz. Find
1} Equation for voltage and current in both the rectangular and standard form.
11) Impedance, reactance and resistance,
iii) phase difference, power factor and power loss.
Draw the circuit diagram considering a simple series circuit of two elements
indicating their values.

Find the resultant voltage and its equation for the given voltages -
connected in series. =8

e, =2sm wi, e, = —C0s (mr - :,L e, = 2cos [ru.r - 1} s £, = —25in 0
6 ) L. ] /
Find the current through 20 Q resistor by using superposition theorem. & 8
®
20N
Two parallel branches of a circuit comprise. tively of i) a coil having 5 Q 8
resistance and inductance of 0.05 H, ii) a eapacitor of capacitance 100 pF in
series with a resistance of 10 Q. Tha cn { connected to a 100 V, 50 Hz
supply. Find
i) impedance and admittan each branch,
i) equivalent admi | ipedance of the circuit,
iti)  the supply current et-factor of the circuit.
Draw its equivalent series Cii g two elements indicating their values
4
0 €2 resistor by using Norton’s theorem 8
1
& 1
=
40V
inductive coil has a resistance of 20 Q and inductance of 0.2 H. It is 8

nnécted in parallel with a capacitor of 20 uF. This combination is connected

“aGross a 230 V supply having variable frequency. Find the frequency at which

“total current drawn from the supply is in phase with the supply voltage.

What is this condition called? Find the values of total current drawn and the

impedance of the circuit at this frequency. Draw the phasor diagram and
indicate the various currents & voltages in the circuit.
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Qs.

Q6.

b)
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A coil having a resistance of 20 € and inductance of 0.2 H is connected across 4
a 230 V 50 Hz supply. Calculate

1) circuit current

i) phase angle

i) power factor

v) power consumed

A balanced three phase delta connected load draws a power of 10 kW, wit
power factor of 0.6 leading when supplied with an ac supply of 440 V, 50
Find the circuit elements of the load per phase assuming a simple series gigcui
of two elements.

Draw and explain the phasor diagram of a single phase lransfnrmeen No-load. 8

Explain the various losses of a single phase transformer.

two wattmeter method indicate 1250 W and 250 W res

power supplied and the power factor of the circuit:
1) both the readings are positive,

11) when the latter reading is obtained by r
pressure coil.

Two wattmeters connected to measure power in a three g |

connections of the

A 200/400 V, 50 Hz single phase trans he following test results: 8
OC test: 200V 0.7 A 70 W (on lv sid
SCtest: 15V 10A 85 W (ondhve

Obtain the parameters and drawg

referred to the primary.

valent circuit of the transformer as
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